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0= (=9) + {(+8); —0 = (+8) + (~8) 0= (~17) + (+5) — {(-2) + (+-10)

6= (~8) - (~25 ~6 = (~9)+ (+8) = (+B) =6 = (+9) ~ () ~ (+10)
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118 5 a5-17=-12 bBd6+78=124 &59-48=11 d3-3=13%
5_7--4 - 38-66=-28 08+129-225 5-{=—3%
94 8=17 4 -08=-57 —TA-32=-106 -3+5=-7%
_ ‘
6. (1) (-6)—(+4) = —10 () (-6} +(+9) =3
(-8) + (~4) = —10 (-6~ (-9) =3 |
7. a) 41 — 40 = 1 b) —46 + 50 = 4 c)3+65=95
108 — 12 = 96 133+ 133 =0 3-89=-59
8. a) 5 Einheiten b} 7 Einheiten ¢) 22 Einheiten  d) %Einheiten
119 o a4 -5 d) —8; -2 gl 7:0
b) —4; =7 e} —9; -2 h} —12; -13
c)1;6 f —2;—4 ) -5 -9
10. a) negativ b} positiv ¢) negativ d) positiv
1. -
12. a) -3 b) -7 c) -5 d)-10 e) 994 f} -1,5
13.a)7 b) 3 c)5 d} 0 e)1004 f) 85
14. a) x = 15 b) x = (-7) g x =7 d) x = (-6)
15. a) + c) +
-4 | -1 ' -9 +7
r—1|—3|—8| |—201+11\-4\ .
m|+sl-6[—2j r—31|+11|0|-4J
b) - d) L. :
16 | +13 +5 | +7
,|~7|+9|—4| r+81+3|-41
ERETEREN ENEAEREN 1
16, —7 = (-9) — (—2); —7 = (~2) — (+5); ~7 = (+10) + (~17)
+8 = (+5) + (—2); +3 = (+8) — (+5); +3 = (+5) — (+10) — (-8) 1.1




